ERBRE

BRSH

NEAETE °

I M E % of meas. range
=& AR °

S % bi
BRAAEEM® °
PR 2SR R kHz
18 AR SR R kHz
RIREXREEBER us
BEEXREEBIER us
AHESRERNBERIK opm/K
MTTFd/MTBF years
HEHE VDC
TH A BRI (typ.) RIFEERN mA
T A BRI (typ.) BIEERK mA
AHSNBEEAR kOhm
WS RERAR nf
BR R R R

BSEE(s =REX%)

BRLAEBE mm?
TR

BAEZETR(s =RRLK)

BREFHBETR mim?
B 45 1 S 3

L5 A B °
hiEake271

EREHFERNRARENELE Nem
RAEEE om
B/NEW e
B A AV A N
BAATREHARK N
ITHENEFRE °C
IEC 68-2-6 #E3) (Amax =0.75mm, f=5 ... 2000 Hz) 9
IEC 68-2-27 #ifi g
Hatr

EN 55022 class B, Emission radiated (30... 230 MHz) aBuV/m)
EN 55022 class B, Emission radiated (230... 1000MHz) aBuv/m)
EN 61000-4-2, ESD (contact discharge / air discharge) KV

EN 67000-4-3, Immission HF radiated (80... 1000 MHz) Vim
EN 61000-4-4, Burst (on all lines) KV
EN 61000-4-5, Surge (lines to ground) KV
EN 61000-4-6, Immission HF conducted (0. 15...80MHz) Vermk
EN 61000-4-8, Immission magnetic field (50Hz) A/m
IEC 60393-1 Insulation resistance (500VDC, 1bar, 2s) GOhm
IEC 60393-1 Dielectric strength (VAC, 50Hz, 1min, 1bar) KV

TEL:400-900-8812

48T : 18017400327

MH-C

0... 360

+03

0.1

12

0.1

(%)

1.66

(800)

4600

50

668/ 668
5(% 10%)
(1)

9

10

7100

yes

Cable 3pole, s
0.25 (AWG24)
yes

Cable 6pole, s
0.25 (AWG24)

360 (continuous)
IP54 / IP67
05/3

6000

360 Mio.

700

50

=40 . ¥ 125

20

50

max. 30
max. 37
/18
30
+7
+7

30
20

MH-C2

0... 360

o7

0.1

14

0.1

)

05

(809

2500

50

308 / 308
5(=10%)
(9

70

10

7100

no

Cable 3pole, s
0.25 (AWG24)
no

360 (continuous)
IP54 / IP67
05/3

6000

360 Mio.

700

50

-40 .. ¥85

20

50

max. 30
max. 37
/18
30
+7
+7
70
30
20

www.jjx88.com

Vert-X 22 - 5V / 10...90% Ub

BL A

R e #R

W42 B

F1SR T 35 o /3 4% A 2R

FREQET
AHERI, FERATTLEH

s An =N B 5%
REBFa
BN &
BEEFERENA
CRE,ER, R4,
RHF)EREESAE
EEAES HRNEH

% X MH-C
HKMHEE+0.3%

2 Y1 2bit
R E
tEMH-C2EEEH

% 3 MH-C2

HKME +0.1%

2 PEE14bit

HERE 5 18 M A E R R/ A R E
(RI3E)

CONIELEC

luck@jjx88.com



S

1E 1a B BECWAR A1

E 8 Et CCWH %2

TR, EMBECWHES

TR, EMBE CCWH %4
MRRRESHLATLS

IE BB ECW #5158 FF < #l thwith 1 switch output* AT #EA
EBEBE CCW H1BEFF X5 H*TikB
IE BB ECW 288 FF < 1 i AT % C
IE 686 B CCWH 2% FF < 1 Hi* AT % D
HE#E 75 16 7T iR E AL E
ERMBER T B AR E WIEF

R FBERE 5 0 AR E W LG

HB A R BE ¥ 75 ) AT iR E R IEH

T 4m#2Vert-X EasyAdapt &P

WEES
10% ... 90% Ub#r 2
x% ... y% Ub (within 5 ... 95%) & %3

fiteg B E5VDCHR 2

Vert-X 2 2 0 1 7 8 6 2 2 1

Electrical angle

36FR MBS A360°

xxA]1£03 to 35; Declaration in 10° steps
QTR AR B REA

Sensor principle
7MH-C
8MH-C2

Mechanical version

22014R IR X T FEM10x0,75 ; 6 mm % D-shape ; IP54
22024F MR G =% M10x0,75; 3,175 mm 4 # ; 1P54
2211¥5 H Rl fR R ¥Esize 9 ; 6 mm #i D-shape ; IP54
2212 H R PR & $esize 9 ; 3,175 mm T il #; IP54

223 1R IR R % M10x0,75 ; 6 mm #l D-shape ; IP67
22324F MR G R % M10x0,75; 3,175 mm i # ; 1P67
224145 R PR R % size 9; 6 mm #4 D-shape ; IP67
224207 AR R % size 9; 3,175 mm i H; IP67
2299 R BRI K F Bk

RERE

ARREBE B4 3pole
67 i% [B i 8. 456 pole
R IEH5 R B4

BYHEKE

0245 #1.0m
067 i£3.0m
107 3%£5.0m
99T i 45 R B 4

Vert-X 22 - 5V / 10...90% Ub
Ordering code

* Switch outputs

Please define number

(max. 127), position and width
of the pulses.

1T %R 1t

T HIA =R

T HI & 50

#0O x% ... y% Ub (within 5% ... 95% Ub)
PR AR SRR

FFRIRETTL (max. 2)

SR &

HHRBSEA STE30° to 360° (BHI)
BEEATRE (MM
BIASAMAKSTRE @FINEL)

HEH: 5 EICW/CCW AR E / A2 (A LLE R M)
RE|RANRE/ ARE (ALK R HRAM)

TEL:400-900-8812

48T : 18017400327

MH-C

X X X X X X

~

www.jjx88.com

MH-C2

X X X X X X X X X X X X

CONIELEC

A company of the Siedle-Group

luck@jjx88.com



Vert-X 2201 / Vert-X 2231

B2 #(incl.)
1x 88/ M10x0.75/SW13
Ix A ERE
Y
17,7 B 7
B I #7227
[~ - F il #oLL,
¢
s 2 - o -
. __[J < - Zh fi=
I'___. o o Pai = -t
> =
¥ I~ !
¥
J
[}
[}
P
1 @0 5 -
= . Py [
I~
Vert-X 2202 / Vert-X 2232
B2 #(incl.)
1x82BM10x0.75/ SW13
_ IxE R E
: e ":
H o
ks e i
] L -
oz
I
4
[, & =
ot ) o
o

CONIELEC

A company of the Siedle-Group

TEL:400-900-8812 4BT : 18017400327 www.jjx88.com luck@jjx88.com



Vert-X 2211 / Vert-X 2241

B4 (incl.)
1x B EXRF
2x wAE R &
1242 M3x8
(B NI,
(- - ’
T 20 = | B E

[
1
1

-
o

Vert-X 2212 / Vert-X 2242

E2 4 (incl.)
1xE EXRF
xR R L=
1242 M3x8

CONIELEC

A company of the Siedle-Group

TEL:400-900-8812 4BT : 18017400327 www.jjx88.com luck@jjx88.com



Vert-X 2211 / Vert-X 2212
Vert-X 2241 / Vert-X 2242
B

B E kT

30
-

CONIELEC

A company of the Siedle-Group

TEL:400-900-8812 4BT : 18017400327 www.jjx88.com luck@jjx88.com



	页 1
	页 2
	页 3
	页 4
	页 5



